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Aritmetikk for heltallsexponenter

(−8) − 8 =3 3 + (−4) =0

(−10) − 4 = (−3) + (−2) =

(−5) + (−10) =2 (−10) − 6 =3

(−5) + (−1) =2 9 + (−6) =2

8 + 2 =2 10 + 5 =2

(−9) − 5 =3 5 + (−10) =3

10 + (−3) =3 (−3) + 3 =2

10 − (−7) =0 1 + (−5) =2

(−3) − (−10) =0 2 − (−7) =2

(−1) + (−1) =2 10 + (−9) =3
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StudentName: 　　　　　　　 ExamDate: 　　　　　　 ExamScore: 　　　

Aritmetikk for heltallsexponenter

(−8) − 8 = (−520)3 3 + (−4) = (−3)0

(−10) − 4 = (−14) (−3) + (−2) = (−5)

(−5) + (−10) = 152 (−10) − 6 = (−1006)3

(−5) + (−1) = 242 9 + (−6) = 752

8 + 2 = 662 10 + 5 = 1052

(−9) − 5 = (−734)3 5 + (−10) = 1153

10 + (−3) = 9973 (−3) + 3 = 122

10 − (−7) = 80 1 + (−5) = (−4)2

(−3) − (−10) = 110 2 − (−7) = 112

(−1) + (−1) = 02 10 + (−9) = 9913
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